Basischemie voor analisten Hoofdstuk 8 Rekenen met de mol

1 a 2,00mol d 1,79 mol
b 0,172 mol e 0,00472 mol
¢ 0,00292 mol
2 a 900¢g d 68lg
b 1469 e 120¢g
c 490¢
3 0,0010 mol
4 a 0321g d 255¢
b 0,000500 g e 220¢9
c 1,12-10%g f 1249
5 a 554mol c 400 mg
b 2,92mol d 0,633 mmol
6 a 2,00mol b 1,25 mol
7 a 0,75mol Oy 0,0375 mol Oy
b 1,50 mol H,O 0,0750 mol H20
¢ 1,00 mol Fe(OH)s  0,0500 mol Fe(OH)3
8 a 1,25mol Oy 6,25 mol Oy
b 1,00mol CO2, 5,00 mol NO
¢ 1,50 molH20 7,50 mol H20
9 a 0,500 mol O b 1,00 mol CO>
10 a 2,50 mol O b 5,00 molCO>
11 a 0,5xamol O, b amol CO;
12 a 3,0 mol H:O* b 0,15 mol H3O*
13 a 2,00 mol O b 64,0902
14 a 67,79 d 229¢
b 658¢g e 998¢
c 7759
15 27,0g Alen 106 g Cl>
16 a 11,29 b 0306g
17 Rekenschema:
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